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Q:1 Select the correct passive form of the given
sentence.

Don't touch this switch.

1. This switch don't be touched.

2. This switch must not be touched.
3. This switch need not be touched.
4. This switch does not be touched.

Q:2 Select the correct passive form of the given
sentence.

Ronak has killed a tiger with a gun.

1. A tiger was killed by Ronak with a gun.

2. A tiger had been killed by Ronak with a gun.
3. A tiger has been killed by Ronak with a gun.
4. A gun has been killed by Ronak with a tiger.

Q:3 Select the correct passive form of the given
sentence.

Picasso painted the picture beautifully.
1. The picture is painted beautifully by Picasso.

2. The picture had been painted beautifully by
Picasso.

3. The picture was being painted beautifully by
Picasso.

4. The picture was painted beautifully by Picasso.

Q:4 Select the correct passive form of the given
sentence.

The peon did not ring the bell on time.
1. The bell had not been rung by the peon on time.
2. The bell was not rung by the peon on time.

3. The bell was not being rung by the peon on
time.

4. The bell is not rung by the peon on time.

Q:5 Select the correct passive form of the given
sentence.

The boys are laughing at the beggar.

1. The beggar is laughed at by the boys.

2. The beggar was being laughed at by the boys.
3. The beggar has laughed at by the boys.

4. The beggar is being laughed at by the boys.

Q:6 Select the correct passive form of the given
sentence.

We have warned all the students about the exam.

1. All the students were warned about the exam by
us.
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2. All the students have been warned about the
exam by us.

3. All the students had been warned about the
exam by us.

4. All the students have warned about the exam by
us.

Q:7 Select the correct passive form of the given
sentence.

Can | propose to hold a meeting?

1. Could a meeting be proposed to hold by me?
2. Can a meeting be proposed to be hold by me?
3. Can a meeting be proposed to hold by me?

4. Can a meeting being proposed to hold by me?

Q:8 Select the correct passive form of the given
sentence.

People say that he is a pilot.

1. It is said by the people that he is a pilot.

2. It was said by the people that he is a pilot.

3. It has been said by the people that he is a pilot.
4. It is being said by the people that he is a pilot.

Q:9 Select the correct passive form of the given
sentence.

Millions of people across India watch Ramayana.

1. Ramayana is being watched by millions of
people across India.

2. Ramayana has been watched by millions of
people across India.

3. Ramayana is watched by millions of people
across India.

4. Ramayana is watching by millions of people
across India.

Q:10 Select the correct passive form of the given
sentence.

Ronak learns his lessons on a daily basis.

1. His lessons are being learnt on a daily basis by
Ronak.

2. His lessons have been learnt on a daily basis by
Ronak.

3. His lessons are learning on a daily basis by
Ronak.

4. His lessons are learnt on a daily basis by Ronak.
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IAnswers and Solutions

Q:1 The correct answer is option 2 i.e. This switch
must not be touched.

Active voice- Don't + vl + object + other words.
Passive voice - Object + must not be + v3 + other
words.

As the chosen option follows this structure it will be
the correct answer.

Q:2 The correct answer is option 3 i.e. A tiger has
been killed by Ronak with a gun.

Active voice- Subject + has/have + v3 + object +
other words.

Passive voice- Object + has/have + been + v3 +
by + subject + other words.

As the chosen option follows this structure it will be
the correct answer.

Q:3 The correct answer is option 4 i.e. The picture
was painted beautifully by Picasso.

Active voice- Subject + v2 + object + other words.
Passive voice - Object + was/were + v3 + by +
subject + other words.

As the chosen option follows this structure it will be
the correct answer.

Q:4 The correct answer is option 2 i.e. The bell was
not rung by the peon on time.

Active voice- Subject + did not + vl + object +
other words.

Passive voice - Object + was/were + not+ v3 +
by + subject + other words.

As the chosen option follows this structure it will be
the correct answer.

Q:5 The correct answer is option 4 i.e. The beggar
is being laughed at by the boys.

Active voice- Subject + is/am/are + v4 + object +
other words.

Passive voice - Object + is/am/are + being + v3 +
by + subject + other words.

As the chosen option follows this structure it will be
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the correct answer.

Q:6 The correct answer is Option 2 i.e. All the
students have been warned about the exam by us.
Active voice- Subject + has/have + v3 + object +
other words.

Passive voice - Object + has/have + been + v3 +
by + subject + other words.

As the chosen option follows this structure it will be
the correct answer.

Q:7 The correct answer is option 3 i.e. Can a
meeting be proposed to hold by me?

Active voice- Can + subject + vl + object + other
words?

Passive voice - Can + object + be + v3 + by +
subject + other words.

As the chosen option follows this structure it will be
the correct answer.

Q:8 The correct answer is option 1i.e. It is said by
the people that he is a pilot.

Active voice- People say that + subject +
is/am/are + noun.

Passive voice - It is said by the people that +
subject + is/am/are + Noun.

As the chosen option follows this structure it will be
the correct answer.

Q:9 The correct answer is option 3 i.e. Ramayana is
watched by millions of people across India.

Active voice- Subject + vl1/v5 + object + other
words.

Passive voice - Object + is/am/are + v3 + by +
subject + other words.

As the chosen option follows this structure it will be
the correct answer.

Q:10 The correct answer is option 4 i.e. His lessons
are learnt on a daily basis by Ronak.

Active voice- Subject + v1/v5 + object + other
words.

Passive voice- Object + is/am/are + v3 + by +
subject + other words.

As the chosen option follows this structure it will be
the correct answer.

GETITON

Google Play

«

English



